ST 7k

HH X< CHAlol2l | 2MT 1|25 ZLtAl 1,710,000 | 24 tH 2 E3 90,000 A7}

Zx|gt CHAlo® | B2 1| M7 1,750,000 | YUHESZ 135,500  |2SHS(FE+A7})
HiZhaf CAIo)8 | S+ 115 1,200,000 | &/ HE E3 30,000 =d=(FE+E7
S8 CHEAI[E  |EMF 2| M 3,037,725 | AtHE S = 140,000 T HEAE

StEE CAIo)8 | S+ 2|57, 45 70lAl 930,835 |2 tH2 EF 35,000 =HE (R, 22EEAA
2718} 7Y |7 1157 280,000 | 2 tH2 EF 40,000 A7}

L sTEY |&7 4|2, A7|&E QA 835,137 |22 EF 55,000 27t

A= ST ST 3|57, &+ 7 602,026 o7t Z2EdEANE
Ol2d s7dE |3 2|37, 7 1,101,474| YHEEZ 165,000 | SEAS(FEH+7II)
T ST |S 115 1,200,000| 2ICHEE3 130,000 =d=(FE+471
HEE Mrolg | MF 115 24,000 | ¢ Z3 5,000 A7}

UxE Mol M7 2|57, M7 3,328,575\ AH2E3 110,488 |47t SUS(FE+Y7H
3 EMAOY |EMF 1EMT 70,035 ZE e

z 4= SyZoR 28T 2| g7 2,948,070 | ATHE ST 50,000 | =FAS(FY+47Y), a7t
58 AR ESAL AL 1|87 3,878,674| 2535 190,000 |7t

0|2t N 115 68,000 i

O|EfE CHAAlo]8 | HIZITHE HELE: 735,730 =2H=(FE+Y)
= CAIo)8 | S+ 1|57 356,820 A7}

M= ST 8 ST 11242 258,299 EHE(FE+AI)
A2 =T |87 1|85 ZLtAl 468,369 A7}

EYS Mol |MF 1|57 4,690 &7t
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